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LT = 1 195, 532
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Bt = 1 143,240 | B4R (BL88) k- 20 m3
4. 0mPL E
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LRI (B 1350) 20 m2
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LR L 2 1 569, 315
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U=
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18-8-40 (&4F) 1H30cm ;
JE 13-} (B) 10 m
18-8-40 (&47) 1H60cm ;
H#RT R L 2 1 83,689 |aEav/)-} 10 m2
18-8-40 (F4F) M 15cm
MRE T = 1 66, 752, 690
HERABRE T 2 1 66, 752, 690 |IRPHIRE (A 905, 000 m2
EREERRES MEmL
EEBABRE () 878, 000 m2
AN R R
EEBABRE () 153, 000 m2
EH EsEL
EEBABRE () 8, 500 m2
A1 fREEL
TR (PEBARRED 20, 000 m2
7 Vv 2ukk AREIEL
LEFEAET 2 1 51, 669
CEAT = 1 9,975 |HAR 100 m2
PRARHEE FEARGATEA
RARBRAR T = 1 41,694 | A4 (HE) 100 m2
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PRARLEAT 4 m3
RARBEAN 100 m2
R T = 1 298, 612
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FKiEH L 10 m2
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oL = 29,485 | HRELEBIST uy) 5 m
AFE (150,/170X 200 X 600) :
Bk T Y 43,400 | BAKEE 5 m
BERLATIV N T 12em A29F74 M) ;
HEYE T Y 127, 680
s EEE L T Y 81,150 |av))-MEEWHEUE L 10 m3
EAEAETEY) FEMOE T ;
TE LB T =Y 46, 530 | BoE 10 m3
/) -k (BERR)
RISy 10 m3
20—k (SRR
s L Y 201, 922
FESFALER T = 102, 400 | HERTEEINUNAE (KA ALEE) 10 m3
K& T = 99,522 | /KM 1 =
RN LT Y 42,638
A T Y 10, 536 | AT ERZEHEHI 20 m3
PR T Y 32, 102 | 455 LS5 1 =
el 1 =
HIHL O-17)
FERHERE T = 33, 782
MR- EAEET Y 33,782 |IEE 10 m2
IR T 100m2R0 ;
ANLiEZ 10 m2
V7% W=100 ;
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T = 76, 676, 869
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